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2

235

2
2 R

R
R

UI

  1   «  »:

A4,6
41
48

41

45
1 RR

RI .

 ,     
 :

2,34,62,312 III A A.
    ,      

   .
: IA = 3,2 .

 3.    ( . 3.22)     
1101   2202 . 

10021 RR 5003R . .

R1 R2

R3R4

R5

)

R1 R2

R3R4

R5

)

5

1 2

34

R5

)

R14 R23

5

UU

. 3.21.
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’ . 

 
 . 3.22.  

 
  ABCD  ABMN      . 

        . 3.23.  
 

 
. 3.23.  

 
      ABCD  ABMN : 

112212 RIRI ,  (1) 

11331 RIRI .  (2) 
 1-       

231 III .  (3) 
  (1)  

2

1112
2 R

RII .  (4) 

  (2) 

3

111
3 R

RII .  (5) 

 (4)  (5)  (3) 

2

1112

3

111
1 R

RI
R

RII , 

  

: 
1 = 110  
2 = 220  

R1 = 100  
R2 = 100 , 
R3 =500  
 – ? 
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4,0
500100100100100500
500110500220100110

312123

313221
1 RRRRRR

RRRI  . 

 « »  1   ,     
 . 

: 1 = 0,4 . 
 

 4.       ( . 3.24),  
1 = 1,8 , 2 = 1,2 , R1 = 0,2 , R2 = 0,3 , R3 = 0,8 , R01 = 0,6 , 

R02 = 0,4 . 
’ . 

 
  . 3.24. 

 
      : 

321 III . 
       

1 = 1·R01 + 1·R1 + 3·R3. 
1,8 = (0,6 + 0,2) 1 + 0,8 3 

 2-       
2 = 2·(R02 + R2) + 3·R3. 

1,2 = 0,7 2 +0,8· 3.  
     ’     

.2,18,07,0
;8,18,08,0

;0

32

21

321

II
II

III
 

 3           
     

.2,18,08,07,0
;8,18,08,08,0

212

211

III
III

 

: 
1 = 1,8  
2 = 1,2  

R1 = 0,2  
R2 = 0,3  
R3 = 0,8  
R01 = 0,6  
R02 = 0,4  
 – ? 
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.2,15,18,0
;8,18,06,1

21

21

II
II

 

.4,236,1
;8,18,06,1

21

21

II
II

 

6,02,2 2I ; 272,02I  . 
8,1272,08,06,1 1I ; 99,01I  . 

262,1272,099,03I  . 
: 1 = 0,99 ; 2 = 0,272 ; 3 = 1,242 . 

 
 5.    ( . 3.25)    21  , 

42  , 63  .   R1, R2  R3   4 , 6  
 8 .      . 

’ . 

 
 . 3.25.  

 
   ABFE  ABCD   

       .   
      : 

113313 RIRI ,  (1) 

112212 RIRI .  (2) 
        

0321 III , 
  

312 III .  (3) 
 (3)  (2) 

11331112 RIRIRI , 
 

: 
1 = 2  
2 = 4  
3 = 6  

R1 = 4  
R2 = 6  
R3 = 8  
1 – ? 2 – ? 
3 – ? 
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2

21112
3 R

RRII .  (4) 

 (4)  (1) 
2112131312132 RRIRRRIRR , 

 

385,0
64648

266824
21213

132312
1 RRRRR

RRI  . 

 « »   ,    1     
. 

   

308,0
6

64385,024
3I  . 

2 = 0,385 – 0,308 = 0,077 . 
: 1 = 0,385 ; 2 = 0,077 ; 3 = 0,308 . 

 
 6.        . 3.26, 

   10021  .     R1, R2, R3  R4 
   20 , 10 , 40   30 .  

’ . 

 
. 3.26. 

 

           
  ( . 3.27).  

 
. 3.27. 

: 
1 = 100  
2 = 100  

R1 = 20  
R2 = 10  
R3 = 40  
R4 = 30  

A – ?  
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       : 
1414331 RIRI ,  (1) 

14142212 RIRI .  (2) 
  R1  R4 ’  ,   R14 

41

41
14 RR

RRR .  (3) 

    
3214 III ,  (4) 

 14 – ,   .  
    (1)  (2) 

3

14141
3 R

RII , 
2

141412
2 R

RII . 

    (4) 

3

14141

2

141412
14 R

RI
R

RII , 

 

31421423

21321
14 RRRRRR

RRI . 

 (3)  

9
3020401030201040

1001004010100
41324123

21321
14 RRRRRRRR

RRI  . 

:  = 9 . 
 

 7.        5,121   
   5,021 rr  ,   221 RR    

13R  .   3AR   ( . 3.28).   . 
’ . 

 
                . 3.28. 

: 
1 = 1,5  
2 = 1,5  

r1 = 0,5  
R1 = 2  
R2 = 2  
R3 = 1  
R4 = 3  

A – ?  
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  ( . 3.29).  
       , 
 KLCD: 

2222112 rIRIRIRI AA ;  (1) 
 ABCD: 

1122111 rIRIRIRI AA ;  (2) 
 

 
. 3.29. 

 

 ABMN: 
112233111 rIRIRIRI .  (3) 

       
AIII 31 ;  (4) 

  N 
AIII 32 ; (5) 

  K 
212 III ; (5) 

  (3)  (2), : 
330 IRRI AA , (6) 

3
3 R

RII AA .  (7) 

 (7)  (4)  (5) 

3

3
21 R

RRIII A
A .  (8) 

  (1) (2) 
112212 rIrI . 

 21   r1 = r2,  



75

12 II . (9)
 (8)  (1)

AA
A

A RIrI
R

RRRRI 22
3

213
2 ,

23

321332
2 rR

RRRRRRIRI AAA . (10)

  (8)  (10)   (9)  (6)

23

321332

3

3 2
rR

RRRRRRIR
R

RRI AAAA
A ,

321332

32

2
2

RRRRRRRRr
RI

AAA
A ,

075,0
1322132135,0

15,12
AI .

: = 0,075 .

 8.    ( . 3.30, 
),       .

      751 ,  
92J  ’   R1, R3, R4, R5 R6   

 3,5 , 10 , 3 , 5  7,5 .

. 3.30, a

2

R3

I3

I4

I1

R4

I5

R6

31

I6

1

J2

R5

R1

R8

1

R7

R9

2

R3

J2
1

. 3.30,

3

R1
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’ .
 « » R4, R5, R6,  

 « » R7, R8, R9,    
.

  ( . 3.30, ):
)  R3  R9,  ’     

R39:

)   J2    
:

2252598228 RJ ;

)  1   R1 R7     
  17   R17:

    ( . 3.30, ).  
  .

     ,   ,   

:
1 = 75 

J2 = 9 
R1 = 3,5 
R3 = 10 
R4 = 3 
R5 = 5 
R6 = 7,5 
1-6 – ?

R17

2 28

3
R39

1

17

R8

. 3.30, 
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: 
165602251728 Ee  . 

 ’     : 
33256283917 RRRRe  . 

     : 

 

   3 ( . 3.30, )    V = 0.  
     1  2: 

3056391 IRV  ; 
1002255252882 IRV  . 

    ,    1, 2, 3 
  ( . 3.30, a)    . 

      ( . 3.30, )  
  : 

)   : 

A2
5,2

5,710030
1

121
1 R

VVI ;  

I2 = J2; A3
10

030
3

31
3 R

VVI . 

)    : 
  1: 532314 III  ; 
  2: 1192215 III  ; 
  3: 639326 III  ; 

    : 
.PP  

1050910027523211 JVVIP  . 

105065,71155331025,2 222222IRP  . 
    ’  . 

: 1 = 2 ; 2 = 9 ; 3 = 3 ; 4 = 5 ; 5 = 11 ; 6 = 6 . 
 

 9.       
( . 3.31)   ,  121  , 162  , 103  . 

 R1, R2, R3, R4, R5  R6    1 , 4 , 2 , 7  
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7 7 .   a  b.  
’      .

’ .

. 3.31.

  . 3.31  ,  .    
    .      

  .
  ,    , 

  :
·(R1 + R2 + R4) – I ·R2 – I ·R4 = 1 – 2,

– I ·R2 + I·(R3 + R2 + R6) – I ·R6 = 3 + 2,
– I ·R4 – I ·R6 + II·(R6 + R4 + R5) = 0.

:
12 – 4 I – 7·I = – 4,
– 4 + 13 I – 7 I = 26,
– 7 – 7 I + 21 I = 0.

’       :
= 1 / ; I = 2 / ; II = 3 / .

   :

 = 

333231

232221

131211

RRR
RRR
RRR

= 
2177

7134
7412

= 1323,

  1, 2, 3:

:
1 = 12 
2 = 16 
3 = 10 

R1 = 1 
R2 = 4 
R3 = 2 
R4 = 7 
R5 = 7 
R6 = 7 
U – ?

Uab
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1 = 

3332III

2322II

1312I

RR
RR
RR

 = 
2170

71326
744

 = 2562, 

 

2 = 

33III31

23II21

13I11

RR
RR
RR

 = 
2107

7264
7412

 = 4746, 

 

3 = 

III3231

II2221

I1211

ERR
ERR

RR
 = 

077
26134

4412
 = 2436. 

 

  : 

94,1
1323
2562

II  ; 

58,3
1323
4746

III  ; 

84,1
1323
2436

III  . 

   
94,1I1 II  ; 

64,158,394,1III2 III  ; 
58,3II3 II  ; 

1,094,184,1IIII4 III  ; 
84,1III5 II  ; 

74,158,384,1IIIII4 III  . 
     a  b. 

      Uab-b- 2-R2-a : 
,222 RIUab  

44,956,616222 RIUab  . 
     

= , 
88332211 III  , 

886
2
65

2
54

2
43

2
32

2
21

2
1 RIRIRIRIRIRI  . 

,   . 
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 10.      
 ( . 3.32, ),    = 30 ,  

 R1, R2, R3, R4, R5  R6   6 , 6 , 6 , 
3,6 , 9  4 .

’ .
   ( . 3.32, )   ( . 3.32, ). 

  . 3.32, , .

;18
6
6666

3

21
2112 R

RRRRR

;18
6
6666

1

32
3223 R

RRRRR

;18
6
6666

2

13
1331 R

RRRRR

;3
6,318
6,318

412

412
124 RR

RRR

U23U12

U23

R23

. 3.32.

2

R6 I6

I4

R4

I2

R2

I5

R5

I1
R1 R3 I3

1 3

4

a)

2

R6 I6

I4

R4

I5

R5

1 3

)

R12

R31

2

R6 I6

R124 R235

1 3

)

R31

     124

U12

I13

R6 I6

)

R1 3

U13
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;6
918
918

523

523
235 RR

RRR  

6
6318
)63(18

)(
)(

23512431

23512431

RRR
RRRR  

       .   
  ,      «  »: 

;A3
64

30
6

6 RR
I  1836613 IRU  ; 

;A1
18
18

31

13
31 R

UI  213315235124 IIII  ; 

62312412412 IRU  ; 122623423523 IRU  ; 

;A66,1
6,3

6
4

12
4 R

UI  ;A33,1
9

12
5

23
5 R

UI  

34,166,13461 III  ; 32,034,166,1542 III  ;  
02,132,034,1213 III  . 

 
 11.       R6 ( . 3.33, ),  

1501  , 406  , 30321 RRR  , 104R  , 205R  ,   
R6    3 ; 18   28 . 

’ . 
      , 

   

6RR
UI x . 

 
. 3.33, a 

 
    ( . 3.33, )    
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  Ux.        
   R6,     . 

   Ux     
  ,     .    

  ,    Ux (   6)  
 : 

65522 EIRUIR xxx . 
 

.55226 xxx IRIREU  
 2   5     : 

;6030303223 RRR  
;3020105445 RRR  

;20
3060
3060

4523

4523
2345 RR

RRR  

;50203023451 RRRe  

;3
50

1501
1

e
x R

EI  ;1
3060

303
4523

451
2 RR

RII x
x  

.A213215 xxx III  
  

.B502201304055226 xxx IRIREU  
  R       

 ,      [18].  
 

 
   )          )       ) 

. 3.33. 
 

        ,  
  ( . 3.33, ). 
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    R   « » R1, R2, R3 
( . 3.33, )    « » ( . 3.33, ): 

;10
303030

3030
321

21
7 RRR

RRR  

;10798 RRR  
;3010207557 RRR  
;2010108448 RRR  

;12
2030
2030

4857

4857
5748 RR

RRR  

.22121057489 RRR  
     6R : 

 36R : 

,A2
322

50
6

6 RR
UI x  

 186R :  

,A25,1
1822

50
6I  

 286R :  

.A89,0
2828

50
6I  

 
 12. : 1)      
      ( . 3.34); 2)    

    ; 3)   . 
 ,         

  [18]. 

 
. 3.34.        
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’ . 
      ,  ’   

   .    R3, 
R4, R5       R34, R45, R35,  

 (« »)       b, c, d ,    
  ( . 3.35  . 3.36) [18]. 

 

 
. 3.35.  « »    « » 

 
         

    ’   ( . 3.36). 
 

 
. 3.36.     « »    « » 

 
 ,    b, c  d   . 
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  R34, R45, R35     
« »    « »: 

543

53
35

543

54
45

543

43
34

RRR
RRR

RRR
RRR

RRR
RRR

. 

  ’   R45  R7, R35  R6   
 – R457, R356,     : 

R457 = R45 + R7, R356 = R35 + R6. 
       . 3.37.  

,  R457  R356 ’  .    R ,  
’    e  f,    : 

356457

356457

RR
RRR . 

 

 
. 3.37.  

 
  ( . 3.37)    ( . 3.38): 
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. 3.38. 

 
 ,  R2 ’     R34  R ,    

’  .  ’    R ,   
  ’    g  h ,  : 

RRR
RRRR

342

342 . 

       ( . 3.96): 
 

 
. 3.39. 

 
 ,   ( . 3.39)   ’  . , 

     
81 RRRR . 

          
: 
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RR
EI

0

. 

     ( . 3.39),     
      R1, R8  R ,    
     .     

     .  , 
II1 , II8 , II , 11 IRU , 88 IRU , RIU . 

,         . 3.38, 
   ,      g  h  U . 

 : 1)  2   R2; 2)  34  ’  
 R2  R ; 3)    R2, R34  R : 

2
2 R

UI , 
RR

UII
34

34 , UU 2 , 343434 RIU , RIU . 

,        f  U ,  
    . 3.37. 

  356  457   R356, R457,  ’  : 

356
356 R

UI , 
457

457 R
UI . 

    . 3.36.  R35  R6 ’  
,   6   R6   35   R35  
  356,     R35  R6    

 : 
3566 II , 35635 II , 666 RIU , 353535 RIU . 

 R45  R7 ’  ,   7   R7   45 
  R45    457.    R45  R7 

   : 
4577 II , 45745 II , 777 RIU , 454545 RIU . 

        
    .      

( . 3.40)      . 
   U5,      

   R5, R7  R6       
    : 

0765 UUU   675 UUU . 



 88 

 
. 3.40. 

 
  5   R5  

5

5
5 R

UI . 

  3  4       
   d  ( . 3.40).  

0653 III   563 III ,  

0754 III   754 III , 
   . 

333 RIU , 

444 RIU . 
,        . 

      . 
 ,        ,  

      : 
IIREP 0 , 

8
2
87

2
76

2
65

2
54

2
43

2
32

2
21

2
1 RIRIRIRIRIRIRIRIP . 

  = ,    . 
 

 13.      ( . 3.41) 
  I1, I2  I3  .  : E1 = 1,8 B; E2 = 1,2 B; 

 : R1 = 0,2 ; R2 = 0,3 ; R3 = 0,8 ; R01 = 0,6 ; 
R02 = 0,4 . 
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’ . 

 
  . 3.41. 

 
       

       
     

321 III . 
        

  : 
33101133110111 RIRRIRIRIRIE , 

 
31 8,02,06,08,1 II . 

,        
: 

3320221 RIRRIE , 
 

32 8,07,02,1 II . 
   ’      

.08,07,0
;08,08,0

;0

32

31

321

II
II

III
 

  I1    

8,0
5,12,1 2

1
II . 

 I2        I1     
E1  E2: 

2
2 8,0

8,0
5,12,16,18,1 II , 

 
22 8,034,28,1 II , 

: 
E1 = 1,8 B 
E2 = 1,2 B 
R1 = 0,2  
R2 = 0,3  
R3 = 0,8  
R01 = 0,6  
R02 = 0,4  
I1 – ? I2 – ? 
I3 – ? 
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272,02I  . 

  I1        I2  
   E1 

27,08,06,18,1 1I , 
 

99,01I  . 
 I3         

26,127,099,0213 III  A. 
: I1 = 0,99 ; I2 = 0,272 ; I3 = 1,26 . 

 
 14.      ( . 3.42)  

  I5 = 5 .      I1, I2, I3, I4  
 .  : 11R  ; 102R  ; 103R  ; 44R  ; 

35R  ; 16R  ; 17R  ; 68R  ; 79R  .  
  1621E  ; 501E  ; 303E  . 

    .    
,    . 

 
’ . 

 
. 3.42. 

 
       
   ,    

. 3.42.   –    ’  , ,  
 ’   .    
         – 

: 
I5 = 5  
R1 = 1  
R2 = 10  
R3 = 10  
R4 = 4  
R5 = 3  
R6 = 1  
R7 = 1  
R8 = 6  
R9 = 7  
E1 = 162  
E2 = 50  
E3 = 30  
I1 – ? I2 – ? 
I3 – ? I4 – ? 
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   .   1  2     
    : 

321 III ; 543 III . 
          E1  E2 

22176121 IRIRRREE . 
    E2  E3 

484332232 IRRIRIREE . 
        

5954843 IRRIRRE . 
    R4    : 

50105736430 44 II , 
 24I  A. 

 I3    R3   ,    2 
 

7543 III  . 
    R2   ,   
   

26471010 232 IEE , 
 74I  A. 

     R1, R6, R7    
14321 III  A. 

 I1      
484332232 IRRIRIREE , 

 I1 = 14 A. 
     R5  R9  ,      

    , ’   ’  , 
   .      ,  

         . 
: I1 = 14 A; I2 = 7 A; I3 = 7 ; I4 = 2 A. 

 
3.5.      

 1.       
   d1 = 1    .   S = 50 2. 
    U = 120    ’   

  . 
,    ,     
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  d2 = 10 .    ;  
,        
  . 

’ . 
    

2

2
1

1

UC
W . 

 1 –      
  . 

  ’   ,  
        .  

  
Q = C2 U2, 

 C2 –     , ,   
C2 = 0 S/d2    10  (d2   10 ),    

 U2   10 ,  U2 = 10U. 
 ,       

   d2    

1

2

1

0
2

1

0
2
2

2

0
2 10

2
10

2
10

102
WU

d
SU

d
SU

d
SW . 

       ,  
   . 

 ,    

7
2

2

3122

1

0
112 1087,2

2
120

10
1051085,89

2
99 U

d
SWWWA  . 

:  = 2,87 10-7 . 
 

 2.     ( . 3.43),  
   0 = 6 . 

’ . 

 
   . 3.43. 

: 
d1 = 1  = 0,01  
S = 50 2 = 5 10-3 2 
U = 120  
d2 = 10  = 0,1  

 – ? 

: 
1 = 2 = 3 =  

= 4 = 5 =  
= 0 = 6  
C – ? 
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 1  2 ’  , : 
12 = 1 + 2 = 2 0. 

 12  3 ’  , : 

0
2
0

0

00

00

312

123

31213 2
3

2
3

2
2111

CC
C

CC
CC

CC
CC

CCC
. 

013 3
2 CC . 

 4  5 ’  , : 

0
2
0

0

00

00

54

45

5445

22111
CC

C
CC

CC
CC
CC

CCC
. 

045 2
1 CC . 

 13  45 ’  , : 

7
6

67
6
7

6
34

2
1

3
2

0
00

00451315 CCCCCCCCC  . 

:  = 7 . 
 

 3.     . 3.44  
 2 , 1 , 3   1 .    – 

10 .    ,     
    . 

’ . 

 
    . 3.44. 

 
    : 

3
6

8

1

1
1 105

102
10

C
qU  . 

  ’  : 
q1 = q2 = 10-8 . 

    : 

2
6

8

2

2
2 10

10
10

C
qU  . 

: 
1 = 2 10-6  
2 = 10-6  
3 = 3 10-6  
4 = 10-6  

q1 = 10-8  
q2 – ? q3 – ? 
q4 – ? U1 – ? 
U2 – ? U3 – ? 
U4 – ? U – ? 
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    1-2 (  ’  ): 
U12 = U1 + U2 = 5 10-3 + 10-2 = 15 10-3 . 

  ’  : 
U12 = U3 = 15 10-3 . 

  : 
q3 = 3 U3 = 3 10-6 15 10-3 =45 10-9 . 

  ’  : 
q13 = q1 + q3 = 10 10-9 + 45 10-9 = 55 10-9 .  

(  q23 = q2 + q3) 
  ’  : 

q13 = q4 = 55 10-9 . 
    : 

3
6

9

4

4
4 1055

10
1055

C
qU  . 

 : 
U = U3 + U4 = 15 10-3 + 55 10-3 = 70 10-3 . 

: q2 = 10-8 , q3 = 45 10-9 , q4 = 55 10-9 , U1 = 5 10-3 ,  
U2 = 10-2 , U3 = 15 10-3 , U4 = 55 10-3 , U = 70 10-3 . 

 
 4.      280U  . 

   01,0S  2;     
 495  / 2. : )     

; )  d  ; )  ,   
,         ; 

)  W ; )  C ; )   F 
 . 

’ . 
    

3
12

9

0

1056
1085,8
10495E  / . 

   

d
UE , 

 
3

3 105
1056

280
E
Ud  . 

: 
U = 280  
S = 0,01 2 

 = 495 / 2 
 = 1,6 10-19  

m = 9,1 10-31  
 = 1 
0 = 8,85 10-12 /  
 – ? d – ?  – ? 

W – ? C – ? F – ? 
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A = eU, 
       

2

2mW . 

   
A = W, 

  

2

2meU , 

 

7
31

19

10
101,9

280106,122
m
eU  / . 

   

6
12

329

0

2

107,0
1085,812

10501,010485
2

SdW  . 

   

12
3

12
0 107,17

105
01,01085,81

d
SC  . 

   
qEF 1 ,  

0
1 2

E ,  Sq , 

 1 –    ,  q –   . 
  

6
12

29

0

2

104,138
1085,812

01,010485
2

SF  . 

:  = 56 / , d = 5 ,  = 107 / , W = 0,7 ,  = 17,7 , 
F = 138,4 . 

 
 5.   2      

( . 3.45),           3,6   
  1 .   41R  , 72R  , 33R  . 

     . 
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’ . 

 
  . 3.45. 

 
 ,    , ,    

 R3  .      
     R2:  

U = I·R2. 
 ,    ,      

rRR
I

12

. 

 

2
12

R
rRR

U . 

    
66

2
12

102,47
147

6,3102R
rRR

CCUq  . 

      ,  
     . 

: q = –4,2 10-6 . 
 

 6.    C1 =1 , C2 =2 , C3 =3  
’           

220 .       ? 
’ . 

  ’     
 –    .   

q1 = q2 = q3 = q.  (1) 
 ,   

C
qU ,  (2) 

: 
C = 2  
 = 3,6  

r = 1  
R1 = 4  
R2 = 7  
R3 = 3  
q – ?  

: 
C1 = 1   
C2 = 2   
C3 = 3  
U = 220  
q – ? U1 – ?  
U2 – ? U3 – ? 
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  –   ’   

321

1111
CCCC

. 

 (2)  
5

666
321

1012

103
1

102
1

10
1

220
111

CCC

Uq  . 

    

120
10

1012
6

5

1
1 C

qU  , 

60
102
1012

6

5

2
2 C

qU  , 

40
103
1012

6

5

3
3 C

qU  . 

: q1 = q2 = q3 = 12 10-5 , U1 = 120 B, U2 = 60 B, U3 = 40 B. 
 

 7.  ’   ,     
   2 .    ,  , 

   . 
’ . 

      ’    
,   ,         

21 qq , 
0S

qE , 1 = 2. 

 ’      
EdU . 

  d   ,     
  

2
1

2
UU . 

         
12 2CC . 

:     ,   
  2 ,      2 . 
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 8.      
5,0C  ,     . 3.46.   

 = 10 ,    2r  ,   8R  . 
’ . 

 
 . 3.46. 

 
     

2

2
C

C
CUW . 

        ,  
054 RR UU . 

RIUU RC 22 , 
     2R. 
     

rRrRRR
I

632
. 

 

rR
RR

rR
UC 6

22
6

. 

  

6
262

1056,2
286

1082
2
105,0

6
2

2 rR
RCWC  . 

: W  = 2,56 10-6 . 
 

 9.        . 3.22, 
       U = 240 .  

: C1 = 50 ; C2 = 150 ; C3 = 300 . 
 
 

: 
C = 0,5   
 = 10   

r = 2  
R = 8  
W  – ? 
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’ . 

 
. 3.47. 

 
   C1  C2 

C12 = C1 + C2 = 50 10-6 + 150 10-6 = 200 10-6 , 
    

6
66

66

312

312 10120
1030010200
1030010200

CC
CCC  . 

     
46 1028824010120UCQ  . 

     3,  
4

3 10288QQ  . 
   

96
10300
10288

6

4

3

3
3 C

QU  . 

   1  2  
14496240321 UUUU  . 

     
46

111 10721441050UCQ  ; 
46

222 1021614410150UCQ  . 
      

52,0
2

1441072
2

42
11

1
UQW  ; 

56,1
2

14410216
2

42
22

2
UQW  ; 

38,1
2

9610288
2

242
32

3
UQW  . 

: Q1 = 72 10-4 ; Q2 = 216 10-4 ; Q3 = 288 10-4 ; W1 = 0,52 ; 
W2 = 1,56 ; W3 = 1,38 . 

 

: 
U = 240  
C1 = 50 10-6  
C2 = 150 10-6  
C3 = 300 10-6  
Q1 – ? Q2 – ? 
Q3 – ? W1 – ?  
W2 – ? W3 – ? 
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 10.    ( . 3.48),   
   S = 12 2,  ,     

( r1 = 6)  d1 = 0,3    ( r2 = 7)  d2 = 0,4 .  
      E1 = 77 / , E2 = 36 / . 

     ,     
,        

. 
’ . 

  
              . 3.48. 
 

    
     ’   

1221

21

2

2

1

1

2

2

1

1

21

21

1 dd
S

d
S

d
S

d
S

d
S

CC
CCC

aa

aa

aa

aa

. 

   ,   a1 = r1 0  
a2 = r2 0,  

12
33

4
12

1221

210 1099
103,07104,06

1012761085,8
dd

SC
rr

rr  . 

  ,    , 
 U ,       

UCQ . 

       

aa

a

a
U

dd
d

d
S

UC
C
QU

1221

12

1

11
1 ; 

aa

a

a
U

dd
d

d
S

UC
C
QU

1221

21

2

22
2 . 

: 
S = 144 10-4 2 

r1 = 6 
r2 = 7 

d1 = 3 10-4  
d2 = 4 10-4  
E1 = 77 106 /  
E2 = 36 106 /  

 – ? U – ? 
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aa

a U
ddd

UE
1221

2

1

1
1 ; 

aa

a U
ddd

UE
1221

1

2

2
2 . 

 U  –  ,    ,   

  , a U  –  ,    

  . 
    

49500
7

103710461077
44

6

2

1221
1

r

rr ddEU  ; 

27000
6

103710461036
44

6

1

1221
2

r

rr ddEU  . 

 ,     ;  ,   
   , ,     

  ,  27,0 /2 = 13,5 . 
: 99 10-12 ; U = 13,5 . 
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 4.    ’  
 

 1.        
l = 28,5 ,   d = 4    20° .  

 2.      d = 5 , 
 l = 57   t = 40°C. 

 3.    1    220  
    110 .   , 

       110 . 
 4.    = 12 ;   R  = 1 .   

          
? 

 5.        
+40°   –40° .   l = 28,5 ,    d = 5 . 

 6.   ’      24  
   220 .     . 

 7.    P = 5    U = 220  
      R  = 0,22 .    

 . 
 8.      

8,5    U = 220 ,  85%.     
  . 

 9.    ,     
   .  – ,    
   , ’    .   

     ,  
 ,         
 . 

 10.    ,     
(    )      

.     –  , 
     ,    ,  

     . 
 11.    ,     

  ,    ,   
   .       

,  ,       
     . 
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 12.    ,     
   ,  ,   

  ,      , 
  .       

 .      , 
        . 

 13.    ,     
 ,     96000  .  

10        .     
 ,     ,  2400 . 

     ,     
      500 ,     – 100 . 

 14.         
 1     2 .    6 .  

   . 
 15.          

9 ,        3      2 . 
 16.         

   220     0,1 ,     
   210 ? 

 17.    6     1,4    
,       2   8 .  

    . 
 18.    1,5     .  

       ? 
 19.        200   
  0,6     14 .  

  ( ),     1 . 
 20.        

 220 .    5 .    – 10 . 
   (%). 

 21.    240     2,5    
 ,    20  ’    

 400  .    7,5 .    
. 

 22.        8    
   1 ,      4     
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1,6 .     . 
 23.   2 ,    , 

  5 .   150 ,     
 ,  12 .    . 

 24.         
 R1 = 9,4 . ,     R1 = 12 .  
     R2 = 7 ,     

 13 .   . 
 25.     = 16 ,   

r = 3 .     ,  ,    
   = 16 .   . 
 26.     = 1,6 ,    

r = 0,5 .     I = 2,4 .   ? 
 27. ,       

’       = 2 ,  , 
  R = 1,4  ( . 4.1).    r1 = 1   r2 = 1,5 

.   I1, I2, I,    . 
 

 
. 4.1.  

 
 28.    R    . 4.2, 

 R1 = R2 = R5 = R6 = 3 , R3 = 20 , R4 = 24 .   , 
    ,      U = 36 . 

 

 
. 4.2. 
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 29.    ,    
 300     220 . 
 30. ,   ,  2 .  

    1600 .   . 
 31.     (  = 110 10-8 )  5  

  0,25        110 . 
  . 

 32.  ,     500 , 
     200 .     2  

  . 
 33.      4   1 . 

    ,     30 . 
 34.     100      10 

 23 .   ,    10    
,   ’  ; ? 
 35.   : 40  (220 )  100  (220 ).  

      ,    
    220 . 
 36.          

 4  9 .        
  .    . 
 36.    2 ,    1 .  

   ,        
0,75 ? 

 38.        
 ,     30   ,    

 ,  180  ,    10   – 100 . 
 39.      9 .   , 

   5  3 .   ,    
    1 ,   : 1) ; 2) 

. 
 40.  ,       

100 ,    5    5 .  
    1%     .  

   ,    . 
 41.      ’  

  1,5  .    
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  250 ,    4 2,   27,7 . 
          

. 
 42.         2,5 2  

 100   ,     12 .  
  ,       220 ?  

    ? 
 43.        

  18 2,     15 ,    
  230 ,        

  10%    ? 
 44.    750U    

  5P  .      
  ,        %10   

,    ? 
 45.       

 4P  .    0,4 .    
 ,        4%  
 ? 
 46.     300 .     

,          2   
    4%   ? 

 47.     20    
  100 .       

 2%    .     
     25 2? 

 48.  ,    220 ,   
   2,5 .    10 .  

    ,      
   10%   . 

 49.      ,  
1       300 ?   ,    

  120 ?    – 13,5° ,   – 
80%,    – 4200 / ,   – 100° . 

 50.      1    16° ,  
 ’     0,5 .    

  1200    .     
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     ,   ? 
 51.         

.     20 .      
 2,2 , : 1)   ; 2)    

; 3)    ?    
– 16° ,    – 110 ,   – 85%. 

 52.     .      
     900 ,    –  1800 .  

     ,    : 
1) ; 2) ? 

 52.      ’ ,  
  75%,    5    15°   100°   2400 ? 

 ’       1   
 2 . 

 54.       
  500 ,       

220 .      0,4     
? 

 55.     5    0,08 2 
    80%,     3 .  
      ,     

 110 ?    0,58      16°  
  100°C? 

 56.  ’     ,   
   1 .        8   

  1 .     ,   
 ’   ?    ,  

 ? 
 57.      ,   

   400 ,     100 . 
 58.       ,  

   4,5 ,   1,5 . 
 59.      120 ; 100 ,    

 – 220 ; 100 .      ,    
.      ;   ? 
 60.      1 = 40   2 = 60 , 
    U = 200 .     
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  ,      ? 
 61.     R1  R2 ’     

   9 .   ’    
    2 .    R1  R2. 

 62.   ,   . 4.3   
         

  ,  31E  , 52E  , 221 RR  , 
43R  . 

 

 
. 4.3. 

 
 63.    62        

     . 
 64.    62        
    . 
 65.   ,    ( ,  

  R1),     . ,   R1  , 
  . 4.4,    .     

? 

 
. 4.4. 
 

 66.       R1 = 10   
  I1 = 3 .       R2 = 20 ,  

 I2 = 1,6 .       R . 
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 67.      ( . 4.5)   
 I1 = 0,5 .    I4   R4,  R1 = R4 = 2 , 

R2 = 4 , R3 = R5 = 1 . 

 
. 4.5. 

 
 68.      , 

  . 4.6. :  = 4 , R  =1 , R = 2 . 
 

 
. 4.6. 

 
 69.   ,    R  

        U2  
 R2 ( . 4.7),   = 70 , U = 30 B, R1 = 10 , R2 = 38 , U1 = 20 B. 

 

 
. 4.7. 
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 70.        ( . 4.8) 
I = 1 ,    E1 = 48 , b  R1 = 120 , 
R2 = 10 .       R 1 = R 2 = 1 . 

       2. 

 
. 4.8. 

 

 71.    . 4.9    I   
  U1  U2    ,    1 

   1   2,  2 –   4   3 . 
 

 
. 4.9. 

 
 72.       , 

  I1, I2  I3   .   : 1001E  , 
1102E  .  : 351R  , 102R  , 161R  .  

  . 
 73.   I1, I2, I3,    

     ( . 4.10)    
,   : 61R  ; 432 RR  . 

   : 221E  , 22E  ;   
 : R 1 = R 2 = 1 . 
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. 4.10. 

 
 74.   ( . 4.11)   I1  I3,    

.   I4, I5, I6,     Uab   a 
 b,  I1 = 10 , I3 = –20 , R4 = 5 , R5 = 3 , R6 = 2 , 5 = 20 , 

6 = 40 .   . 
 

 
. 4.11. 

 
 75.      ( . 4.12) 

   :   ( . 4.12, )    
( . 4.12, ).    :  U = 20 ,  

 = 10 .    R . 
 

 
)        )       ) 

. 4.12. 
 



 112 

 76.   j  G   ,  
         

( . 4.13) : U = 10 ,  = 2 . 

 
. 4.13. 
 

 77.  . 4.14       
: 1 = 24 , r1 = 1 , E2 = E3 = 6 , r2 = r3 = 0,25 , 61R  , 

21R  , R3 = 2,5 .        
    . 

 

 
. 4.14. 

 
 78.       . 4.15.  

  ,  RRRR 321 ? 
 

 
. 4.15. 

 
 79.       . 4.16  

  ,  RRRR 321 ?  
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. 4.16. 

 
 80.          

 . 4.17,  RRRR 321 ? 
 

 
. 4.17. 

 
 81.      ,   . 4.18 

   ,  RRRR 321 ? 
 

 
. 4.18. 

 
 82.        

200     1 ,    ,  
  R  = 100 ,   75-150 ?   220  ( . 4.19).  
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. 4.19. 

 
 83.        

 75-150 .   100 ,    220 .  
    . 4.19.  
 84.       = 40   2  = 100 

,    110 ,      U = 220 
 ( . 4.20).         

?  

 
. 4.20. 

 
 85.        

    . 4.21    ,  
15E  , 521 RR  , 5,143 RR  , R5 = 2,5 .  

 

 
. 4.21. 

 
 86.    R2  R3 ( . 4.22),  R1 = 10 , 

I2 = 0,3 , I3 = 0,6 , U = 180 .  
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. 4.22. 

 
 87.   ,   . 4.22,  

 I2  I3,     R1,  U = 100 , I2 = 10 , R2 = 3 , 
R3 = 6 .  

 88.   ,   . 4.22,  
   ,  R1 = 8 , R2 = 6 , R3 = 3 , U = 50 . 

 89.   ,     
  ( . 4.23) 100U  , 151R  , 102R  , 53R  , 

104R  , 85R  , R6 = 2 .  
 

 
. 4.23. 

 
 90.   ,     

. 4.24,  71R  , 32R  , 63R  , r0 = 1 , I2 = 2 .  
 

 
. 4.24. 
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 91.     ,   
. 4.22,  101R  , 202R  , R3 = 30 ,     

 – 550 .  
 92.      . 4.25,  U = 120 , 

101R  , 42R  , 23R  , 34R  .  
 

 
. 4.25. 
 

 93.      1  : 
 2,1 ,  0 ,       2  
:  0 ,  1  ( . 4.26).    

,  R = 2 . 

 
. 4.26. 

 
 94.     ,     

       220    
  5   1 ?  
 95.       12   

1,8 .            
   ,       220 ? 

 96.    ( . 4.27)    
R1 = 100 .      1 = 0,5 .    

 U = 40 .    R2,  ,    
,         . 
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. 4.27.  
 

 97.     ( . 4.28),    
       ,   R2 = 21 .  

   ,   R1 = 4 ,  16 .  
 

 
. 4.28. 
 

 98.    ( . 4.29)    
   = 4 ,     R2  U2 = 60 . 

  R1, R2  R3,   R,    R1  R3  
    . 

 
. 4.29.  
 

 99.    ( . 4.30)     
3 = 4 ,     U = 80 .   R1, R2  R3, 
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  R,     R1  R2    . 
 

 
. 4.30. 
 

 100.  ,   . 4.31,  ,  
      .    
. 

 
. 4.31. 

 
 101.    ’      

  6 .       
       ,  1 = 10   2 = 8 , 

   r1 = 1   r2 = 2 . 
 102.           

    . 4.32  E1 = 25 , R1 = 10 , R2 = 40 , 
R3 = 15 . 

 
. 4.32. 
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 103.           
    . 4.32,  E1 = 40 , R1 = 100 , R2 = 80 , 

R3 = 60 , R4 = 70 .

. 4.32.
 104.   . 4.33 : P2 = 72 , R = 1,4 , R1 = 8 , 

R2 = 2 .  , I1, I2.

. 4.33.

 105.     ( . 4.34)  U = 110  
      H1  H2  60   

40 .   ,    ,    
      .

. 4.34.

 106.   ,     . 4.35. 

I R
b

I1

E R1 R2

a

I2
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 : 181E  ; 241E  ; 5J  A; 61R  O ; 
2432 RRR  , 15R  O ; 126R  .    

.     . 
 

 
. 4.35. 
 

 107.    ( . 4.36)   : 
102E  ; 243E  ; 31J  A; 56J  A; 41R  O ; 243 RR  , R5 = 1 O . 

    . 

. 4.36. 
 

 108.       ( . 4.37), 
  

 

 
. 4.37. 
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 109.       ( . 4.38), 
  

 

 
. 4.38. 

 
 110.       ( . 4.39), 

  
 

 
. 4.39. 

 
 111.    I    ( . 4.40),  

 .  
 

 
. 4.40. 

 
 112.    I    ( . 4.41),  
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. 4.41. 

 
 113.  ,     . 4.42,     

 I4   R4.   E .    
. 

 
. 4.42. 

 
 114.     ( . 4.43) 10E  ; 51R  ;  

132 RR  ; 354 RR  .     .  
  . 

 
. 4.43. 

 
 115.   ,     . 4.44, 

  R1, R2  R3,  I    E    U21  
 2  1.    R4. 
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. 4.44.  

 
 116.    ( . 4.45) 60321 RRR  ; 

30654 RRR  ,     .   
,   3I  A. 

 
. 4.45. 

 
 117.    ( . 4.46),   U = 20 ; 

  541 RR  ; 232 RR  ; 6765 RRR  . 
 

 
. 4.46. 

 
 118.      ( . 4.47),  
5,021 RR  ; 643 RR  ; 165 RR  ; 27R  ,     

120U  . 
 



 124 

 
. 4.47. 

 
 119.    ( . 4.48)   Icd (    

),  48E  ; 831 RR  ; 442 RR  ; 265 RR  . 
 

 
. 4.48. 

 
 120.     Rab ( . 4.49)   a 

 b,  J5  J6 –  . 
 

 
. 4.49. 

 
 121.   ( . 4.50)     .  

     a  b. 
 



 125 

 
. 4.50. 

 
 122.   I3   ( . 4.51)   

,  201E  ; 1J  ; 1021 RR  ; 53R  ; 154R  ; 
565 RR  . 

 
. 4.51. 

 
 123.    ( . 4.53) 100U  , 40E  , 

3041 RR  , 2032 RR  , 15R  , 1R  .  
  ,   I   R   

Uab. 

 
. 4.53. 
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 124.      I5  
 ab  ,   . 4.52,  – .  

 : 1J  ; 1,56E  ; 15E  ; 11R  ; 22R  ; 33R  ; 
44R  ; 6,05R  ; 36R  . 

 

 

 
. 4.52.  
 

 124.     ( . 4.54) 4j  , 66U  , 
2654321 RRRRRR  .     R3. 

 
. 4.54. 
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 125.   ( . 4.55) 1802 21 UU  .   Uab  
 : 1)    U1  U2,   ; 2)  

   U2. 

 
. 4.55. 
 

 126.  
1.          
    . 
2.     .      

: 2.1)   ; 2.2)   . 
3.   . 
4.         

. 
5.     -  . 
6.   . 
 

 4.1.  
 

 E1,  E2,  J,    R1,  R2,  R3,  R4,  R5,  R6,  
1 40 20 4  1 5 2 10 5 6 8 
2 20 40 2  2 2 1 30 10 10 2 
3 40 10 6  3 4 5 3 3 4 2 
4 10 40 8  4 6 3 5 5 10 5 
5 50 20 1  5 2 1 30 10 10 2 
6 20 50 3  6 6 8 5 10 9 4 
7 60 20 7  7 4 2 6 6 8 5 
8 20 60 9  8 3 1 2 8 10 4 
9 10 30 5  9 5 4 1 4 5 8 

10 30 10 10  10 3 4 10 4 6 3 
11 10 50 4  11 6 7 8 6 3 5 
12 50 10 2  12 7 8 9 10 5 7 
13 60 10 6  13 6 7 10 5 3 2 
14 10 60 8  14 7 9 6 10 8 6 
15 10 70 1  15 6 8 9 5 7 9 
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16 70 10 3  16 8 9 10 7 5 6 
17 80 20 7  17 7 8 6 9 5 10 
18 20 80 9  18 6 9 10 5 7 8 
19 80 10 5  19 7 8 9 10 5 7 
20 10 80 10  20 6 7 9 8 10 8 
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 130 
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 127.   ,   
200 ,        1000 . 

 128.   4,8 10-3 ,    
 600 .   ? 

 129.        
 400 2.     1,5 ,   
 2 10-9  (  = 6). 

 130.     400   
200 .      . 

 131.   ,    
    1000     100 . 
 132.      200 2    

 3      2 103 ,   ’  
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 .      7 .  
 . 

 133.    100 ,   5 ,  
 104321 RRRR  .   1 .  

   ( ) ( . 4.56). 
 

 
. 4.56. 

 

 134.   ,   . 1,  = 4 , r = 0, 
R1 = 1 , R2 = 3 , C1 = 2 , 2 = 4 .   q1 ( )  

  C1 ( . 4.57). 
 

 
. 4.57. 
 

 135.    ’     
 ,        

q1 = 6 10-4 .        
  ,      

q2 = 4 10-4 .       r,  
  R = 45 . 
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